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1 (d)

Dimensional formula of magnetic flux

                 = [ML2T-2A-1]

3 (c)

Area velocity is area covered per unit time.

4 (b)

Unit of 𝜀0 = 𝐶2/𝑁 - 𝑚2 ∴  Unit of 𝐾 = 𝑁𝑚2𝐶-2

5 (c)

Potential can be written a potential energy per unit charge, 

𝑉 =
𝑊𝑞 =

𝑈𝑞
Hence, dimensions of potential are the same as that of work per unit charge.

6 (a)

[𝐿/𝑅] is a time constant so its unit is 𝑠𝑒𝑐𝑜𝑛𝑑
7 (c)𝑅 =  𝜌 𝐿𝐴⇒ 𝜌 =

𝑅𝐴𝐿 = 𝑜h𝑚 × 𝑐𝑚
8 (a)

Let 𝑛 = 𝑘𝜌𝑎𝑎𝑏𝑇𝑐 where [𝜌] = [𝑀𝐿-3], [𝑎] = [𝐿] and [𝑇] = [𝑀𝑇-2]

Comparing dimensions both sides we get𝑎 =
-1

2
, 𝑏 =

-3

2
 and 𝑐 =

1

2
 ∴ 𝜂 = 𝑘𝜌-1/2𝑎-3/2𝑇-1/2

=
𝐾 𝑇𝜌1/2𝑎3/2

10 (a)

Diameter of wire, 

                          𝑑 = MSR + CSR × LC
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                             = 0 + 52 ×
1

100

                            = 0.52 mm = 0.052 cm.

11 (d)

[𝜂] = 𝑀𝐿-1𝑇-1 so its unit will be 𝑘𝑔/𝑚-𝑠𝑒𝑐
12 (c)𝐹 =

𝐺𝑚1𝑚2𝑑2
;  ∴  𝐺 =

𝐹𝑑2𝑚1𝑚2
= 𝑁𝑚2/𝑘𝑔2

13 (a)𝐾 = 𝐶 + 273.15

14 (a)𝑘 = [𝑅𝑁] = [𝑀𝐿2𝑇-2𝜃-1]

15 (a)

[Energy]

[Volume]
=

[ML2T-2]

[L3]
= [ML-1T-2]

[pressure]=
[MLT-2]

[L2]
= [ML-1T-2]

17 (b)

Capacitance 𝐶 =
Charge

potential
=

𝑞𝑉
Also potential =

work

charge
                         ( ∵ 𝑉 =

𝑊𝑞 )∴    𝐶 =
𝑞2𝐽  as well as 𝐶 =

𝐽𝑉2.

Thus, (a), (c), (d) are equivalent to farad but (b) is not equivalent to farad.

18 (b)

Velocity 𝑣 = 𝑘𝜆𝑎𝜌𝑏g𝑐⟹[M0LT-1] = [L𝑎][M𝑏L-3𝑏][L𝑐T-2𝑐]
Or      [M0LT-1] = [M𝑏L𝑎-3𝑏+𝑐T-2𝑐]
Equating powers of 𝑀,𝐿 and 𝑇, we get

-2𝑐 = ―1

Again, 𝑎 - 3𝑏 + 𝑐 = 1,𝑏 = 0,𝑐 =
1

2∴  𝑣 = 𝑘𝜆1/2𝜌0g1/2 or  𝑣2 ∝ g𝜆
19 (a)

Impulse = force × time

                 = [MLT-2][T]

                 = [MLT-1]

20 (a)𝑋 = [𝑀𝑎𝐿𝑏𝑇𝑐]
PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114



Maximum % error in 𝑋 = 𝑎𝛼 + 𝑏𝛽 + 𝑐𝛾
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